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Part-A /5T — &
MENTAL ABILITY / 5Hf¥& Qvgar

1. Find the missing set of letters in
YWZX : USVT :: MKNL: ?

(A) IGHA B) IGIH
(©) IGI) (D) IGHH

2. Ramis 5 times as old as Shyam. If their
difference of age is 8 years, then how old

is Ram?
<(A) 8ycars .(B) 10years
(C) 12 years (D) 5 years

3. From the set of numbers given in four
alternatives, which is most similar to the
et (LEZ ¢

(A) (64,125,216) (B) (5.12.32)
(C) (60,79, 86) D) (33,67,73)

4. Which diagram correctly illustrates the

relationship among: Carrot, Food,

Vegetables?
QO "©
esr

“O

5. *Cyclone’ is related to “Anticyclone’, in
the same way as ‘Flood” is related to

Choose the best option -
(A) Devastation (B) Havoc
(C) River (D) Drought

6. Which diagram best illustrates the
relationship among: Pigeons, Birds, Dogs?

(A) @ (B) OOO
(© @ (D) © O

5.

et A arqufers sl @ W B T
g -

YWZX : USVT :: MKNL : ?

(A) IGHA () IGH

(€) 1GN () IGHH

M B IW WM A 5 A oAral § | F ST

R Sw Y 8 A @1 e &, @ T B

w1 97 &7
(A) 8§ B) 10
(C) 127 ®m sad

faw v R fawt § | @A @ Ry T
T (1, 8, 27) @ walfe w9 87

(A) (64,125,216) (B) (5,12,32)
(C) (60, 79, 86) (D) (33,67,73)

R, @ veRl, wfEmy wm e - w =
wé A fFrefa & <@ 27

(A) . (B) 9
© @ (D) H H o

amara Wefta ? wiammsaa 4, S TR
qE AT R e T

(A) @& (B) =

©) =& D) @
wqasl, ufdal, Tl & waw @ B —
frz w& ¥ frefia = e 82

(A) @ (B) OOO
(©) @ (D) @ o
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7. I+ means X, X means - , + means X and 7

—means +, then2+8x16-4+2="7

A) 4 (B) 8
(C) 10 D) 12
8. Find the missing number in the given 8.
series:
4,7,11,18,29,47, c.oovurrnnraiin 123, 199.
(A) 76 @) 70
©) 95 @) 105
9, Poles : Magnet : : 7 : Battery 9.
Correct analogy for the above is -
(A) Energy (B) Power
(C) Terminals (D) Cells

10. Choose the pair in which the words are 10.

differently related from the following -
(A) Broad:Wide (B) Light:Heavy
(C) Tiny:Small (D) Big:Large

11. Value of 0.003 x0.02 is -

(A) 0.06 (B) 0.006
(C) 0.0006 (D) 0.000060
12. Find the missing number in the matrix?
72 24 6
96 16 12
108 |? 18
(A) 12 (B) 16
(C) '18 (D) 20

Directions:(Q.13-14) Study the following
number line and answer the questions that

follow-
75952359485954593559535

9452535659

IR + T AATA %, X T HOwd —, + DT
Taea x 3R — & A + &, a
2+8x16-4+2="

(A) 4 (B) 8

(C) 10 D) 12

fy= A # g wEm s #f —
4,7,11,18,29,47, ..., 123, 199
(A) 76 (B) 70

©) 95 D) 105

m.n“m..uﬁ“_..:»dﬂ.

I & fag 8w € -

(A) S ®) faseh
(© = ) I

P § ¥ arTa TR @ WIS @I sa
i —

(A) frga g (B) TE: WA

(C) <@g : o o) v e
. 0003x0.02%T 51 & —

(A) 0.06 (B) 0.006

(C) 0.0006 (D) 0.000060

12 P idgmesm a8 ?

[72 J2¢4 |6
9% |16 |12

108 |2 |18
@ 12 B) 16
(© 18 ™) 20

Adwla13-14) = Ry S8 1w W
T @ SR X -
759523594859545935595
3594525356589

13. How many times do the two consecutive 13, fprd TR & @R 2y g ¥ $ =a F

numbers have a difference of 2? 2 T IR B? 4
(A) S ®) 7 (A) 5 ﬁ. :
(© 9 D) 8 o 9 D)
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Scanned with CamScanner



) s s W W o amn ¥? U

21, In an examination, Raj got more marks

than Mukesh, but not us many as I'riya.
Priva got more muarks than Gaurny and
Kuvite, Ganray  got less  marks  than
Mukesh, but his marks are not the lowest
in the group of five, Who is the second in
the descending order of marks?

(A) Priya

(B) Kavina

(©) Ry

(D) Cannol be determined

22. Introducing n boy, a girl said, *He is the

son of the daughter of the father of my
maternal uncle’. What is the relation
between the girl and the boy?

(A) Niece - Uncle

() Sister - Brother
(C) Aunt= Nephew
(D) Sister-in-law and Brother-in- law

23. Which of the following is not related to

the others?
(A) Hamp (B) Guitar
(C) Flute (D) Violin

24. Among five friends, A is heavier than B & |

D. C is lighter than D. B is lighter than D
but heavier than E. Who among them is
the heaviest?

(A) B B) C

(C) D o A

25. A is sister of B, F is daughter of G. C is

mother of B. D is father of C. E is the
mather of D. A is relatedto D as =
(A) Grand daughter
(B) Daughter
(C) Daughter-in-law
(D) Sister
26. Find the odd one out from the following —

(A) [Island (B) Coast

(C) Peninsula (D) Oasis

21

22,

25,

qn ufen A v a) i A vara s A,
sy fom Rrad sy far wy five qd
e @ o afs () a1 gdn @
W ol ure gy, G O o ¥ el o
e an ol A A A s anaen A
g r a e 87

(A faar

) whaar

(C) I+

(D) @ T T

ww w@sd @ ufan HOa EY U@ dASd

ardfl wg W wen @ farch @ w@Ed @
ATH B dSA) va dgd A am ey #?

(A) wiedsh — aran

B) afeq — wid

(C) urdl — el

(D) e — Sften

Py 4 D Fem gE A i @ E?
(A) dom (B) fier

(C) arga (D) TR

dfa fast § A, B3R D @ g A W R
c.p # ge # g6 21 B, D F JIA A
gl & afFd E @ WA &) 7 waE 9l
TE 27

(A) B (B C

(C) D o A

AB® TRA R EGH TH RICBAR
rn 21 D, C ¥ @ #1 E.D# W &1 A
F DA AW E —

(A) ot

(B) &

(© F-7

(D) afE=

26. s 3 | arETa @ s A —

(A) @ (B) @2
(C) wTIE (D) TaErEEE

14, :‘l\m many times is 5T followed by 07 )14
wen such pairs, "3 should i '
Netore *S°- SWCERER T ae 8 W ued '3l s wike-
(A 3 m 4 (A 2 m 4
wy s m 6 () § (D) 6
15, The nextterm in the series is- 15, avf an anrar afm -
B.22, B 288, ..., ' 8 22.8. 28, 8 .
(A) 9-. m 29 ('Al. l; Y m 29
© 3 D) 34 © 2 m M

16. Find the odd one out - 16. arima W s N -

1 2 3 I 3 4
O ST ] =YY

(A 1 B 2 (A 1 m 2

() 3 . 4 (© 3 o 4,

17. 11 378 coins consist of | rupee, SO paise 17, afe 370 frawl o ¢@ wod, s0 &) WA 25
and 25 paise coins, whose values are in W @ fime § Rrd qe @ g
the ratio 13:11:7, then number af 50 paise 13117 B, W 50 R @ R T an
coins will be - 'f) —

(A) 136 B) 133 (A) 136 m 133
<y 132 (D) 128 () 132 (D) 128

18. In a cerwin code. STYLE is written as 18, f=® @z &, STYLE ® uvzc fan om @
UVZIC and BLUNT is written as Td BLUNT ® DNVLR fran wmm &) 9w
DNVLR. How is MOULD written in tha 1

b en in that Fz % MouLD $A feran wgm?
(A) OQVIB (B) KMVNT (A) OQVIB (B) KMVNT
(C) OQSNF (D) KMTNF (C) OQSNF (D) KMTNF

19. Mike stanis from his home and drives 19. HE® 393 W A Fwan R 10 9 afem
10 miles towards west. Then tums to his N Zife
nght and dnives 10 miles and then tums to 10 ,;‘aww;:mm; fi:; e il R
his left and drives 5 miles again tuming to T8 W5 A v
his left, he drives for 10 miles. Finally, he I AR A A g3 W 10 A w0 @ 3
wrns left and drives 15 miles. What is the 7 T AR A & R 15 AR TgEar 2)
shortest distance of his present location IS qoblad WH A TS W e g@
from his home? ) 2?7
(A) 0 miles (B) 50 miles (A) oW (B) so0 Wi
(C) 30 miles (D) 15 miles (C) 30 # D) 15 A

20. The average age of Divya and Daksh is 22 20. f&@n @er e @ 3w amg 22 af & afy
years. If Surbhi’s age is added to it. then W @ S o N S R s W =
the average of their ages becomes 28 T A sfvwa oy 28 3 @ el @ RO
years. What is Surbhi’s age? @1 3u qu erf? )

A) 37 years (B) 38 years (A) i (B) 38 af
(C) 39 years (D) 40 years (C) 39Td (D) 40 7§
[EETYTEC-20][Series-B] Page 4 of 32 '
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27. Find the odd one out ~ 27. fye &} orgma @ sT@ DA =
(A) Clove (B) Cinnamon (A) @ (B) Zrerd
(C) Pepper (D) Apricot (©) s frd D) ﬂﬂ.ﬂ
28 Ina censin code language, BAT is coded 26, Roch ag rr # BAT a1 23 fovar ot &
as 23, then how will CAT be written in the & s @z ww A caT @
same code language? S? 3
w 2 ® 2 (A) 22 ®) 23
© 24 @ 25 © 24 ®) 25
29. There are deer and peacocks in a zoo. By 29, aﬂ?@ﬂﬁ&ﬂ.«&%%w.mﬁ«?
counting heads, they are 80. The number 2 P s0 &) 9@ WX @ wEAT 200 2
of their legs is 200. How many peacocks fray AR &7
are there?
(A) 20 ®) 30 (A) 20 (B) 30
(C) 50 (D) 60 (C) s0 (D) 60
30. Gunjan spends 75% of his salary and 30. ToM 39 ¥ FT 75 wfrma @d wwar @
saves 21500/~ per month. His monthly I 1500 T HFAETE U &) SHH WS
salary is — A e -
(A) T5.000 (B) 5500 (A) 5.000% (B) 5.500%
(C) T5.500 (D) 6,000 (C) 59002 (D) 60002
31. The next digit in the series is 31, W A ¥ anTe 3% € -
2,5,9,19,37,.7 2,5.9,19,37,7
(A) 75 (B) 78 (A) 75 (B) 78
(C) 80 (D) 73 (C) 80 (D 73
32. Fill in the blank - 32. e v W -~
scD. TEF. UGH, .......WKL SCD, TEF, UGH, .......WKL
(A) CMN (B) ull (A) CMN (B) ul
© VU @) uT © VU ®) UT
33, If Monday falls on the 1* of October, 33, uf2 uEdl JragE @ WHAR AT ®, @ 99
which day will fall three days after the 7R A & adw @ q7 R g F W
20 in that month? IR gIT? ,
(A) Monday (B) Tuesday (A) WaR (B) HTHAR
(C) Wednesday (D) Sunday (C) TR (D) @R
Page 6 of 32
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Directions (Q.34-36): Read the following
passage and answer the questions that
Tollow -

In a survey regarding a proposed measure
to be introduced, 2878 persons took part
of which 1652 were males, 1226 persons
voted against the proposal of which 796
were males. 1425 persons voted for the
proposal, 196 females were undecided.

BT (1 34-38) : Prefafam maota B
gt Y Ry M v B e ¥ —

o gEia s & ou wdeer d 2878
A 3 e foran R 1es2 STEd o 1226
it A s & faes wa sen e A
796 JTEAT | 1425 S A T 7O FEAS
@ faa F @) 196 3R gREr # o1

Scanned with CamScanner

34. How many females were not in favour of 34, ferfl 3wt wwma & fear 3 =& 417
the proposal?
(A) 430 (B) 496 (A) 430 (B) 49
(C) 586 (D) 1226 (C) 586 (D) 1228
35. How many males were undecided? 35. faady s gfean 3§ &7
(A) 31 (B) 227 (A) 3 (B) 227
(C) 426 (D) 581 (C) az6 (D) 581
36, How many females voted for the 36. fderh afiRat = o & fea A =@ fear?
proposal?
(A) 430 (B) 600 (A) 430 (B) 600
(C) 624 (D) 640 (O 624 (D) 640
37. Observe the given patterm and find the 37. Ry 7Q wfmm &1 Sgae T sk Rgw
missing number - ® Tam —
8 10 12 8 10 12
3 1 5 3 ? S
48 |80 [120 48 _ 80 | 120
(A) 2 (B 3 Ay 2 (B) 3
(C) 4 D) 5 (C) 4 D 5
38, What will be the probability of getting an 38. T& o7 3 IoTEY W §9 9 @ I B
even number in tossing a dice? wfirear a1 Be?
(A) 1/4 (B) U6 (A) 114 B) /6
©) 113 o 12 © 113 o 12
39, If four dozen of oranges cost T 160, then 39. afr 4 o wad & avTG 160 T B, @ 3
what is the cost of three oranges? Ha91 2 arma e B
(A) T8 (A) 82
®) 9 B) 92
(C)y 11 ) 11t
(D) None of these (D) T ¥ P A
[EETYTEC-20] [Series-B] Page 7 of 32
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40.  The calendar for 1990 is the same as for - 40. wq 1990 &7 arT fEF T by ¥

(A) 1997 (B) 2001

(A) 1997 (B) 2001
(C) 2000 D) 1996 (C) 2000 (D) 1996
41. "Dog’ is related to ‘Kennel', in the same 41 ‘mar wiftg & g@w-Ty ¥ W TR
way as ‘Bird’ is relatedto ... far WA 2 o A1
Choose the best option - T .
Sygaa s g7
(€) Tree (D) Cage © s D) o

42. In the given diagram below, circle 42.
Tepresents Strong men, squarc represents
tall men, triangle represents army officers.
Which region represents army officers
who are tall but not strong?

A @ argfy A, ga Ta @ wfTe
you, af qarn & 39 gou, P @ @
¥ afEd | - o AT ARE
Tarer &, o S & W af¥raeh € 82

3
(A) 1 (B) 3 (A) 1 ®B) 3
(C) 4 D) 2 (C) 4 (D) 2
43. Which of the following is different from 43. fr=ifea arpfadl § A ot 3w 2 = 22
the other figures?

(A) (B) (A) @ (B) @
(©) mmw D) W © A ™ [/

44, Decpak is the brother of Ravi. Rekha is 44. &iws 3R @1 wd 2 Y@ arga o afew 2
the sister of Atul. Ravi is the son of Y@ w1 g B @ e @ @ @ am

Rekha. Then how is Deepak related to |ay &7

Rekha?

(A) Son (A) 9=

(B) Brother B)

(C) Nephew (C) wdrem

(D) None of these (D) T A B 48
(EETYTEC-20][Series-B] Page 8 of 32

45.

In a certain code language,

(i) ‘pit na som' means ‘bring me
waler’

() ‘na jo tod" means ‘water 1s life’

(iii)  ‘tub od pit’ means ‘give me toy'
(iv)  ‘jo lin kat" means 'life and death’
Which of the following represents ‘is" in

that language?
(A) jo

(C) tod

(B) na
(D) lin

Simple interest on 23,600 at 7.5% per
annum for 2 years 4 months is -

(A) T605

(B) 610

(C) 620

(D) None of these

45.

46.

v faftga @ W 3

()  ‘pit na som' W ¥ & ‘bring me
water’

(i) ‘najotod’ T 1 & ‘water is life”

(i) ‘wbod pit" T 3f ¥ ‘give me oy’
(iv)  ‘jolinkat &7 3rf 2 ‘life and death’
S AT A is' e gt wwar 87

(A) jo (B) ma

(C) 1tod (D) lin

3600 T W 75 Sfma afiE @w W A 2
b 4 TTE TN FEW DA B —

(A) 605%

(B) 6102

(C) 6202

(D) 7% ¥ o3 T8

47. A goods train runs at a speed of 47. TP AT 72 A wfy W @ IR |
72km/hr and crosses a 250m long platform 5 I & 3R a8 250 M TR U@ WeHH
in 26 seconds. What is the length of the P 26 TFS H OR N o= 2, 1 AT
goods train? F =g e sri? .

(A) 240m (B) 250m (A) 240 @ (B) 250
(©) 270m @) 300m (© 207 (D) 300 A

48. Nitin ranks 18" in a class of 49 students. 48. 49 ©TH & T ¥ fif 18 W W 21

What is his rank from the last? ST OO § $F | ®E B
(A) 31 (B) 18 (A) 31 (B) 18
(C) 32 D) 19 (c 32 om 19

49. Find the .w& one out — 49. IETE H T AT —

(A) Crusade (B) Campaign (A) mﬂ.wﬂ (B) fvya=
(C) Expedition (D) Cruise (C) &= arn (D) W% g

50. Which of the following is the smallest 50. FT9 & Fa® BreT 3% aF W 8
number?

(A) 15/16 ®) 16/6 (A) 1516 (B) 16/6
(C) 718 (D) 11712 ©) 778 @) 11/12
[EETYTEC-20][Series-B] Page 9 of 32

Scanned with CamScanner



51.

52,

53.

55.

& Part-B / smr-3
ENERAL AWARENESS OF RAJASTHAN / T @) §rAFg SFA@m

The rulers of which dynasty ruled over 51, qure pae T gEEd | 1dl @

arustic  splendour city ‘Chandrawati’ 1281 wefezat 3 R 90 @ WES B
during 11" and 12% centuries?

& ET?
) Gurjara - Pratihara
A) TR — wfErR
(B) Parmars of Abu .wv &
(C) Chauhans of Sambhar ®) M
(C) WhR @ dE™

(D) Guhil - Sisodia
(D) Tfew — Ry
52 &=ure, eRUE ) WP & U6 ey

Kshetrapal, an important aspect of culture

56.

57.

The period of which ruler of Kota, is m&&ﬁ @ fpa T & @1 W, B G
# Rerfdl & Sope Hi| A S Awdl
&

(A) T g R 1

) ¥er[ fER fiw

(C) wera yFad e 1
(D) wEw@ 9EE fHE 1

s1 R & wErn ward wwafeE A 5w
e &1 Pmfer g ar?

supposed to be the excellent period for the
Kota School of Painting?

(A) Maharao Shatru Sal Singh |

(B) Maharao Kishor Singh

(C) Maharao Shatru Sal Singh [1

(D) Maharao Ummed Singh 1
Maharaja Sawai Jai Singh of Jaipur built
the observatorics at which places?

of Rajasthan, is worshiped as -
(A) A village deity
(B) A village officer
(C) An ancestor

9Ee, Yo o & —
(A) wm g & w9 F

(B) oM fderd & w9 ¥
(C) U gdw & w9 &

Mathura, Delhi

(C) Amber, Bundi, Delhi,
Allahabad, Ahmedabad

(D) Jaipur, Ujjain, Mathura, Jhansi,
Patna

(Select the right group) (@@ we T WA )
(A) Jaipur, Varanasi, Ujjain, (A) TR, ARIOTHL, S,  FATEEG,
Allahabad, Patna T
(B) Jaipur, Varanasi, Ujjain, (B) AR, AR, IS, TG, faeett

(C) IR, @ faeet, FARMEG,

HeHade
(D) SR, IS, T W, G

(D) A saint (D) TF wa @ w9 A

,€zn__ of the following musical uu..(\%ﬂw_ﬂd ¥ & o qra-g=, oq g T
m_..mz.:_.:nsr is not a chordophone 2

instrument?

(A) Alghoza (B) Kamayacha (A) sreraT (B) Tz

(C) Jantar (D) Ravanahatha (C) W (D) W& &
Which is the smallest district of Rajasthan TE A fEwd @ e ¥ W o
as per area? foren a1 &2

(A) Dholpur (A) o

(B) Bharatpur (B) Ragy

(C) Karauli (C) =heh

(D) Sawai Madhopur (D) waré m._dqm.d

The apex academic organization for 55,

e # Raay @ ams fer dresr
frafor, fraraa w@ qwieT 3 Ry b
fdvE wrem ¢ -

(A). 3R o M. £ aRr 21, JgER

(B) g ¢ v §, fiarR

(€) & 3 £ & (s1%R), wagw

(D) . and. €, s

educational planning, implementation and
cvaluation for school and teacher
education in Rajasthan is -

(A) RSCERT, Udaipur

(B) IASE, Bikaner

(C) DIET, Jaipur

(D) RIE, Ajmer

[EETYTEC-20][Series-B]
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How many members are clected in the may_\ﬂa.&u oz # wowend A e wed g4

58.
Indian Parliament from Rajasthan? o &7
(A) 20 B) 25 (A) 20 (B) 25
(C) 40 ) 35 (C) 40 (D) 35
§9. Where was the center of Revolt of 1857 in meiaﬂnﬂ # 1857 & G S I DAY
Rajasthan? (A) AR
(A) Jaipur B) e
(B) Jaisalmer
(C) Sri Ganganagar (C) AR
(D) Nasirabad (D) -TER@E
60. Which of the following is the correct pair 60\ T @ T A el AR T A
of rivers of Rajasthan falling in the Bay of afEal &1 w8 g ?ﬂ. H 9 @ T 27
Bengal? (A) AR Tq e
(A) Kalisindh and Jawai ®) W&
(B) Mahi and Parvati © T @
(C) Luniand Chambal ) .
(D) Kalisindh and Gambhiri -
61. Falku Bai is associated with - 61. Thod 4TS wafda & -
(A) Bhavai Dance (A) ¥ 9 d
(B) Chari Dance ®) T8 T=F
(C) Kalbelia Dance (C) wToafaa 7 A
(D) Terah Taali Dance (D) dvEarEd =@ A

[EETYTEC-20][Series-B]
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62.

65.

67.

,_Nc:n_d ﬁ.n..ﬁim_wsg:gm “Vijay
Stambh™ situated?
(A) Chittorgarh (B) Rajgarh

(C) Jodhpur (D) Barmer

To which place, martyr Bhil girl Kali Bai
was associated?
(A) Rastapal (B)
(C) Bichhiwara

Sagwara
(D) Gorakheda
What is the sex ratio of women, as
compared to 1000 men in Rajasthan,
according to the Census of 20117

(A) 921 (B) 928

(C) 955 m 917

The Plateau of Bhorat is spread in which
districts of Rajasthan?

(A) Udaipur, Rajsamand

(B) Banswara, Dungarpur

(C) Dungarpur, Pratapgarh
(D) Chinorgarh, Udaipur

Which of the following pairs of districts
has lowest literacy rate as per 2011
Census in Rajasthan?

(A) Sirohi and Pratapgarh

(B) Jalore and Banswara

(C) Jalore and Sirohi

(D) Jalore and Pratapgarh

Which city is situated at the bank of river
Ghaggar?

(A) Hanumangarh (B) Ramgarh
(C) Ajmer (D) Jaipur
Which district of Rajasthan has highest
literacy rate according to Census 20117

(A) Jaipur (B) Kota

(C) Sikar (D) Alwar

S./\Aaaﬁu«. R s TR e €7

(A) fahsme

/\ﬁuaﬁmﬂ.
63V v e wfe wreard, fra A @ R

(B) TG
(D) TR

WH A wEg 97

(A) T
(o e
64. N 3oy § af 2011 A FAMOA & AR,

1000 gout @ yEw §, fEd A wE @

(B) WFTATS
(D) TINTEST

e fvaer 87

(A) 921
C) 955

65\/HR1e 1 qeR W o fra Rt § den

g 7

(B) 928
D) 917

(A) TgAR, WA
(B) araarst, IR
(C) IR, wawTe
(D) foftemme, SeaR

66. STTTOUAT 2011

TR AR TR 87

B AR IERUE B
Frafafam # } 5 Rl @ ok 3§ W

(A) R R wamrre
(B) e R divarer
(C) wedR ok RRE
(D) R AR werome

o

R A8 B R aw TR B @ 27
) T @) W
C) serr ©) R

68./ 2011 @ TN B IFTER IGRIH B g

foret ) waifres e 2= 82

(A) TR
(€©) Max

(B) @

(D) aExw

1

ﬁmm._.jmn-uo:wmlnu.m_

Page 12 of 32

t : E
69. Who is credited 1o popularise the ec./? @ M A FAEE A e

70.

71.

72.

73.

74.

Manganiyar and Langa folk artists?
(A) Komal Kothari

(B) Devi Lal Samar
(C) Col. James Tod

Which folk deity's wife became Sati after

Which of the following crop of Rajasthan
does not benefit from *Mavath™?

e @ A fad R o 27
(A) A BRI

(B) TS AR
(C) THa W <re
() Fure fie fa@wa
70. mﬁm%ﬂg%iaﬂﬁdﬂ%ﬂ

(D) Kripal Singh Shekhawat

the death of her husband? wh B me?
(A) Mallinsth  (B) Harbuji (A) Wl (B) FST
(C) Tejaji (D) Devji (C) wwirh D) &Th

q.y\ﬁg%ﬂnmﬂ%éﬂmﬁﬁ
R/ arfaa =E e 27
(A) TE (B) =
(C) w<Hl (D) ard
qw/\imﬂémmﬂ&ﬂaﬂdﬂﬂgwﬁ

(A) Wheat
(C) Mustard

(B) Gram
(D) Cotton

When is the song ‘Jala’ sung by women?
(A) Atthe time of well worship
(B) On the occasion of Jal Jhulani
Ekadashi
(C) On visiting the bridegroom’s
wedding place
(D) On the occasion of Teej worship

. (A) & g T T
(B) o UaeT $ I W
(C) = & IRW & T @A T R
(D) & WF & JTER W

One of the famous attractions for tourists qu.«\\d.ﬂﬁﬂ 1 Tve@l o gdewmt @ fag

in Rajasthan is Mandawa town, which is arEdor T B 2, o Wihe € —

famous for -
’ (A) &= Fueem & fag

(B) =R wE @ fa
(C) wrowrERl & fag
(D) Painted Havelis and Murals @) fafya =g @ AfrfE @ fag

The famous painter Baldeo, who painted qu_\\&d.«:.& A far @ ol il
the manuscript of ‘Sheikh Saadi ki IR e wwa, A A R R

(A) Military Museum
(B) A groupof temples
(C) Royal Palaces

}

Gulistan', belonged to0 which m.q_n. of XA WA ar?

painting of Rajputana? @ @ 5

(A) Bundi (B) >.,.¢..E, o i o .
(C) Deogarh (D) Kishangarh TS fFmTe

-
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7.
Lipimala™?

(A) Gaurishankar Hirachand Ojha
(B) Bishweshwar Nath Reu
(C) Ramkaran Asopa
(D) Muni Jinvijay

76.  “Yhamarkotra Mines’ is famous for -
(A) Lead-Zinc

(C) Calcite
(D) Uranium

77. The author of Rankhar is —
(A) Nand Bhardwaj
(B) Malchand Tiwari
(C) Jitendra Kumar Soni
(D) Madhu Acharya ‘Ashawadi’

78. 5....:&.. was the last Princely State of
Rajputana, accepting subjugation of East

India Company?
(A) Kota (B) Udaipur
(C) Sirohi (D) Jodhpur

79. Out of the following which one is not the
example of folk - painting?
(A) Phad
(B) Bani- Thani
(C) Pathwan
(D) Sanjhi
80. Who was the first
Kalibangan?
(A) S.R Rao
(B) A. Ghosh
(C) B.K Thapar
(D) R.C. Agarwal
81. Where is Darrah Wildlife Sanctuary

excavator of

Who is the author of ‘Bhartiya Prachin’

d&ﬁ?n@a%&»ﬂa%%
(A) THrieR ERmEs S
®) fA ™ &
(C) It Rt
(D) HF Rrfae

76, / "arR@eS @ wiE @ -
(A) Hre—wwm 3 fag
(B) r-—whae & fag
(C) Deze @ fg
@) Ffrm B fag
77\ vaE @ dEws § -
(A) 7 wNg™
(B) =rerag faarh
(© fdfe gww @
/\E. 7 srard yramard
78 Rrqer 1 aife Rarer 2 @ of, R

fiftn & them awh @ ot
Wor fear?

*) T (B) Seug

(©) fid (D) SR
qw.-waﬂﬁuﬁ&ﬂgﬁﬁﬂs

(A) ws

(B) @it — aof

(C) werErd

(D) reh

80. , T T e SR @ ar

(A) THIR. ™3
(B) T um

(C) @3 umw
(D) IR ImAR

8l. e TuAT ARG el Rerm 27

situated?

(A) Ajmer (B) Kota (A) 3RTR (B) ®rer

(C) Dholpur (D) Jodhpur (C) draq (D) g
[EETYTEC-20][Series-B) Page 14 of 32 D

§2. With which of the following dances, 82.\fpfefaa # & R 7 @ W R

83.

musical instrument Jhanjh is used?
(A) Kachchhi Ghodi dance

(B) Bomb dance
{C) Terah Taali dance
(D) Gavari dance

In which district of Rajasthan, the famous  83.
Amar Sagar Jain Temple is situated?

(A) Barmer (B) Iaisalmer
(C) Jodhpur (D) Pali
84. The Secretary of Gram Panchayat is - 84.

(A) Pawwan

(B) Sarpanch

(C) Up - Sarpanch
(D) Gram Sewak

85. Who is the Chairman of West Zone 85.

Cultural Center, Udaipur?
(A) Govemor of Rajasthan
(B) Chief Minister of Rajasthan
(C) Tourism Minister of Rajasthan
(D) Divisional ~ Commissioner of
Udaipur

86. The boundary of Rajasthan touches how 86.

many state boundaries?
(A) 5
< 4

(B) 6
D) 3

87. Which two districts of Rajasthan have 87.

population density more than 500 persons
per square kilometre?
(As per census 2011)

(A) Jaipur, Dausa
(B) Jaipur, Bharatpur
(C) Jaipur, Alwar
(D) Jaipur, Banswara

88. Which dynastics were ruling in Delhi  88.

during the reign of Maharana Kumbha?
(A) Slave- Khilji Dynasties

(B) Tughlaq— Sayyid Dynasties
(C) Sayyid - Lodi Dynasties
(D) Lodi- Mughal Dynasties

ﬁnﬂuﬂﬁﬂq&:@ﬁﬂﬁ.%

(A) weh 9 I

B) T A

(C) oREarel A

D) T A
q?ﬂzﬂdjzgunwﬂaﬂﬂ]aaé
fora § safea 27

(A) AR (B) SrEER

(C) R (D) U

I ST &1 aed B @ -

(A) UEart

(B) WXU™

(C) SU-—<v4d

(D) U™ HEAS
nwﬁaﬂﬂ_ﬁmadmﬂaﬁ%%ﬂaa
3= &

(A) TSI & AT

(B) A @ HEEEA
(C) o @ Wi wA

(D) STTR B TR IgE
g%%ﬂ@m&ﬂd&ﬁ%ﬂ%&
e 87

(A) 5 (B) ©

©€) 4 D) 3
T @ 3 | A el § Saed 99

so0 @ W =i AL R ofs #

(ST 2011 B FER)
(A) vOR T

(B) AR, HXAYY

(C) TR, FER

(D) O, rEars
wERT e @ e o A R v
¥ farey IrorET @ WA o1?
(A) =T - faash au
(B) qTEF — g I
(C) ¥a2 — A I
(D) & — g I

ﬂmm%ﬁ.mn.no:mm:mw.w_
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91.

92.

93.

Famous 1ourist Place *Samode Palace® is

situated in which distric( of Rajasthan?

(A) Jaipur (B) Alwar
(C) Bharatpur (D) Tonk
What

: IS approximate percentage  of
Rajasthan’s surface area to the
area of India?

(A) 1% B) 8%
C) 15% D) 5%
Which of the following districts of

surface

Rajasthan  has  shortest international
boundary? ‘
(A) Jaisalmer (B) Bikaner
(C) Barmer

(D) Ganganagar

eﬁ.n:. was “Rajasthan Housing Board"”
established to cater the housing needs in
the State?

(A) 08 March, 2008
(B) 24 February, 1970
(C) 31 July, 1997

(D) 02 October, 1986

Match the List — I to List — Il and choose
the correct answer from the codes given
below the lists —

List - I (Author) List — I1 (Book)
I.  Kamidaan a. Ajitodaya
II.  Daulat b. Kanhadade
Vijay Prabandh
IlI. Padmanabh c¢. Khuman Raso
IV. Jagjivan d. Suraj Prakash -
Bhan
Code -
I T 11 v
(A) d ¢ b a
B) b a d ¢
(C) ab ¢ d
D) d a b ¢

39,

92.

93.

vRrg qdes w@ EmE TEd o a
fru R ¥ Rua 27

(A) SR (B) SR
(C) wR ) aF
IR B A wwa @ awee @ fad

uftere @ @ 87
(A) 1% (B) 8%

»

©€) 15% (D) 5%

Prfafan 3 9 o 3 g R @)

sty i W o 87

(A) SR (B) IR

(C) aTeR (D) TR

I A AT WA sravmmast A g 2

Mﬂaﬁu AT AvS” Bl WITAT Fd Pl
..V | ]

(A) o8 7T, 2008

(B) 24 Had, 1970 /

(C) 31 yard, 1997

(D) 02 3aTEr. 1986

ﬂ&uﬁﬂﬁnn__ﬂ_i@a%ﬂ.%
o & A9 Ry aEt @ W@ ow w
97T Hfeg — .. .v

T — 1 () ,_ﬁ..l:ﬁs
. Fyfer .‘9 frereg

I Jea Rom b sreed way
AT IR0
X waETn

L. 93mRy

IV. Srsfqs w2 d.

e

I I m w
(A) d ¢ b

o a6 s

a d
(C) a b ¢
a b
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feriél IroU WoItTSd @ IRemaE dar —
(A) werare e

94, The founder of the  Sirohi  Rajya 94,

Prajamandal was -

(A) Kanhaiya Lal Mittal (B) T fradh
(3)  Bhupendranath Trivedi (C) MmaEd wid WE
(C) Gokul Bhai Bhau (n) Hrerdra ard
(D) Mitha Lal Vyas

aorar § AATReE & wew @ e

95. The maximum number of members in the 95,

Council of Ministers in Rajasthan can be - w@n e e
A>._ 25 (B) 30 (A) 25 (B) 30
(C) 35 () 40 (C) 35 (D) 40
, 1 ,. ﬂ
96. Which part of the State is chieflly 96. W g aeg @ few = q=d
inhabited by Bhil Tribe? frara et 87
(A) Northemn pan (A) T R
(B) Eastern part (B) gdl @ A
(C) Southern part (C) = wm 7
(D) Western part (D) ufEmd W 4
97. Among the cash crops in Rajasthan, the 97. IR 5 Mﬂmﬂ woal 5 AT e
*Nerma' type is related to - I TEd ® - ’
(A) =1 A (B) &urg ¥
(A) Sugarcane (B) Cotton
: aarE, | (D) STAE E
(C) Tobacco (D) Jojoba (&) 2,
57
98. Rajputana Madhya Bharat Sabha was 98, STGTArl 7 R ¥ EQ| .,me.a 4 g3
founded in which year? (A) .c_.w ®) 1924 Py
(A) 1919 (B) 194 (Cy 1905 () =4 !
. hese
(C) 1905 (D) None of t o .
99.  Who among the following was not a ruler 99, _,y,ﬂmn_mnd 9 TR TER I F AES
of the Jodhpur State? e ol
(A) Jaswant Singh (A) WHaa faE
(B) Ajit Singh (B) fem e
(C) Anoop Singh (C) @ e
(D) Mota Raja Udai Singh (D) el Iom STa fhE

100. In which Assembly Election, the strength  100. R furrenr ga 3 o e
F T WET 184 ¥ ST 200 DI TE7

of Rajasthan Legislative Assembly was
(B) =l

/
raised from 184 10 200? (A) wre
(A) Fourth (B) Fifth

(C) Sixth (D) Seventh

(C) ©al (D) <aal
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P el

Part-C / sm7—x . , o = : fadraen @@
TEAGHING APt o st ARG g it At i, s e .3
101. The reason for . P e ! prehensiv
a0 Iangunge _” u:an_, developed speech 101, grofy g wiaT ®1 aifaafd ekl 0<M__._..=__o=.~ (A) 394 faenfifdi @R SR dedl -4 PO
= — H s
(A) Deafness after the knowledge (A) W ST @ g T (A) m_c.“__.nas_.ﬁnm»mam the work load on B) we Rumf & werE o @ T
of language ; TR 2
> B |
(B) Lack of proper training (B) Sfra ufewr A T (B) “.EH”_“_H_G every aspect of the (©) TE when wa T T A A TS
(C) Deafness since binth (C) W= ¥ TExA (C) It helps in reducing examination 2l
(D) Deafness after sometime of ) phobia. . Zan 2
g ST B US d qqd [
birth ° (D) o= @ §Y GIa TEA g _. _ (D) [Itreplaces marks with grades. ® .
102. According 1o you. ‘In-Service Teacher 102 X : q Qe FrtE 108. Students follow that teacher of the 108. T REme@ @& IA FAMS T FTATI
Training Programme is a ay ' . -
; : S a good way of a AR - school -
onentation”. .ﬂ,& statement is - TEIGTT A & ¢ (A) o 9% gyl & WA #l
“M“ .—_..__,ﬂn”nnnea M”._ Mn_.aw (A) sffEa (B) 3w (A) Who wm according to their ideals (B) < e ot
._.Eﬁuzw. (©) w (D) iRE T (B) Who is not partial o o= o
rue ' . ( forerdi P 3T
103. In the development of a student. which 103. ar5F @ Rorg § fA=fafag ¥ 9 e (C) o Sy likied ic, moct (D) <1 3ET A FFID & :
3 one of the following contributes i} ; (D) Who is attractive Lookingwise
maximum? g A g @ \. 109. The teacher should have command on 109. s @ a4 T % figer @ et
(A) A good school (A) 30 v o j his work so that - T —
(B) Texthook ) . (A) Students will obtain knowledge Rme o =9 uT $ Fe |
.nn s (B) n__m.amﬁ_mm._ 0 from the teacher. ) = . _ -
(C) Rich parents (©) gam gl@ﬂ_\m‘ﬂ (B) Students will be under control. ®) ©= g A E=
(D) Eligible and dedicated teachers P SR - (C) Sadenss vl g for. fwkion &0 (C) ©IF fwe & o egeE 98 W |
104, A teacher should have which kind of 104, U@ R @ ou weafid @ am e @) m:..m_gm will  get  proper () BT @ St e e
e 1 guidance.
atitude with his colleagues? PR ) wfegfy BF TRe? 110. The child leams the primary lesson of 110. TR Mﬂ HE I OFRHS GE T
(A) Negative (B) Critical j 4 responsibility from — TET BT & —
. . (A) FoREE [ (B) AETAHE “A) H B) School (A) W B) T 9
(C) Cooperative (D) Creative (A) Home (B) School
105. Main function of a teach ( TR ©) v (C) Society (D) Self (© ¥d¥ (D) ¥IF
. on of a teacher 1s - >
1 105. T wE w3 - 111. For progress of the teaching profession, 111. T4 FEUG @A # wifg & fay Tar=
(A) Complete the syllabus on time (A) USTFHY g ﬂﬂ& FRT you will give maximum importance to - R 1 o i
(B) Giving effective teaching to the (A) Quality classroom teachin, A)  ToTEETEEl TR fher
®) ©E @ od vy % { y
students . e 2 (B) Doing rescarch work (B) IFEIH FE T
(C) Guiding the students (©) o7l F1 Avfedt wv (C) Writing good books (C) T gE& & aaT
(D) Partial behaviour with the (D) Bl & A vEvraRt ZAER Fe (D) To quit teaching work D) e &d | garas
106, >un§aH.:m%.MGwS how should be the 1 & 112. Teachers and Head of institution are - 112, s U9 4T SHH US o @ —
L , how shou
s c 108, grid) AT, T wEE B e i (A) Competitors (A) wfret e 8
class communicaton? =
end !
(A) Difficult (B) Moderate A) T ® (B) Friends (B) B &)
(C) Interesting (D) Effecti ‘ (€). Co-wprken © i ol
ffective .
e (C) 9% (D) yardh (D) Opponents (D) fRl 8 &)
EETYTEC-20]([Series-
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113, While teaching in the class, if a student 113,
asks you a question and the answer lo

which you do not know, then whal
would you do?

(A) Make him sit afier scolding,
(B) Say the question is wrong.
(C) Try 1o answer his question as far
as possible.
(D) Promise to answer the next day.
114. ‘For comect communication in the 114.
classroom, it is essential that your

behaviour should be dramatic’. This
statement is -

(A) Right (B) Wrong
(C) Probably (D) Cannot say
Wrong

115, According 1o you, the teachers should be 115.
punctual in school, because -
(A) This is their duty.
(B) If they come on time, the
students will also,
(C) They arc role model of
students.
(D) Tt is not necessary to come on
time.
116. As a subject teacher, what the purpose of 116,
asking questions in the class?
(A) Discussion about teaching
among students.
(B) To keep students active and
attentive in the class,
(C) For discipline in the class.
(D) To improve teaching.
117. The aim of teacher should be - 117.
(A) To help the students clear their
examinaton.
(B) Overall development of the
students.
(C) To develop Skilfull behaviour
in students,
(D) To teach discrimination to
students.
118. Which teaching method would you 118.
adopt to develop creativity?
(A) Problem-solving method
(B) Story method
(C) Lecture method
(D) Case history method

e g Wi Q& U1 A ST T

qor, foran e st e A & A ¥

T W o @ P

(A) = wreaw fran 3

(B) e ) 7o wET qU T 4|

(C) IU WA @1 qoRHa IR A T
Targ &4 |

(D) e R eR wam @1 aer WAl

e A of wew &g emww &R

AF weER e A Aedm B TE

FUT -

(A) @&
(C) w¥ga Ted

v I ¥, Rere ® g W Raey

o afey, @afE -

(A) TE 9= oda B

(B) @70 W M W orE Wl WY W
AT |

(C) A orEr @ dwon wa 81 2

(D) WY R I TS TR B

% g seams @ w9 ¥, s § g quat

&1 @7 It B 87

(A)  orEl # A wad Rar fad &)

(B) w1 ¥ vl B AfFy T ET @
5

(C) T A Frqame &)

(D) fRmror ¥ 3ur &g

ferrs @1 Sivg @ afy —

(A) erE B oden It s F W
AT

(B) Bl H1 waifor R ww=)

(C) vrEl @ ZFER # Hyerar @)

(D) ©TE F YeurT R

%ﬂﬂdﬂﬂﬂ%@ﬁﬁﬂimﬁs

R argemEy?

(A) wFEr-aamre ARy

(B) e fafy

(C) e fafy

(D) =fdm sfeera fafy

(B) A
(D) FE TE THA

[EETYTEC-20][Series-B]
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119. For gaining knowledge, a teacher should 119, SrFArf @ fore, spanua @1 w1l uif

be-- . (A) waETiA
(A) Making Efforts/Zealous
(B) Aware (B) wFAT .
(C) DBook collector (C) qw& AuT T

(D) Inactive
120. “School is a miniature form of the 120. °
society™. This statement is - -

(A) Mostly True (A) fdHaR T
(B) Panially True (B) anfha wea
(C) True (C) ¥

(D) False (D) IF3

e o
121. According to you, the fundamental 121. 39 Fargar, b fweE & ™
quality of a teacher is -

(A) Cheerful nature (A) ETq3 .ﬂa_._m

(B) Auractive dressing (B) SHAF TR

(C) Good personality (C) o1 Afdma

(D) Knowledge of teaching D) few R & 5=

methods -
122. How can the Comeclive Method be 122. & §uR U<fa @1 fFw wor e R

cncouraged? @l 27
(A) By Play-Way method (A) Ta-fafa &
(B) By Independent study (B) wWdad ¥9 A FHTT BRI
(C) By audio - visual aids (C) 3= |EA BT
(D) By dramatic way (D) =redm a6 | .
123. If all the students are not giving correct 123, 3192 @& & afe ¥l BT3 ¥ W@ & <

<2 B, o 39 T T

(A) = T
(B) = YEE@ T |
(C) <=3 wra-—fan 5 fremaa w301
(D) &0 | OIS F OATEC |

124, wefas qUEdl &1 ) &9 D oy 3w -
(A) AT F ATES B |
(B) dAFH |

(C) TT 78 T |
(D) Bring awareness through (D) UNeR R Sl A
posters.

125. Your friend’s son studies in your class, 125. ¥U® Ta &1 g4 JoH I F Gl 2
your behaviour towards him will be - TES ufY 9ET IER B —

answers in your class, then what will
you do?

(A) Explain them.

(B) Give them __oaui.o:r

(C) Complain to their parents.

(D) Repeat the lesson in the class.

124. To eradicate social evils you would -

(A) To aware people.

(B) Take resolution.

(C) Do nothing.

(A) Disciplined (A) :wﬂ:ﬂm

(B) Partial B) WO g

(C) Just like an ordinary student (C) wmr= T3 A =iy

(D) Likeason @) I A N
[EETYTEC-20][Series-B] Page 21 of 32
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126. Being a teacher, You will encourage the

student in order 10 -
(A) Develop the
Quotient (1Q)
(B) Make them self-dependent

(C) Obtain higher education
(D) Remain a Bachelor

127. Why did you decide to become a
teacher?
(A) Icaneam alot through tuitions.
(B) Ican teach my own children.
(C) Ilike teaching very much.
(D) Icannot get any other job,

According 10 you, effective teaching is a
result of -

(A) Friendly
students

(B) Command over content and
communication

(C) Experience

(D) Training

Individual or Group appreciation in

technical language is called -

(A) Discipline

(B) Reward

(C) Difference of opinion among
the students

(D) Helpful in skill management

130. If a child is not socialized, how he

would be?

(A) Like a beast

(B) Unsocral

(C) Antisocial

(D) Fully social

Intelligence

behaviour with

129.

131. Homework makes the student love self-

learning, but along with it, it -

(A) Develops logic and thinking
power among the students.

(B) Reduces the tendency 1o roam
around.

(C) Makes him/her practice the
content knowledge

(D) Causes tiredness.

126, 1y yw fers B w9 A OTA B AR
T
(A) Hfis wr @[ &3 ¥
(B) wWraas a7 &g
(C) <=a fime wra & &q
M) sfafa @ @ g

127, amA e s @ qaf g fBar?

(A) # gy T TG o T wE
@) ¥ o W D el B @1 G &
(C) R w73 s g )
(D) * ¢ ag N 78 a1 qHan|

128. 39 wergaR, YT fegor oo @ -

(A) vl A PEads 2ger &
(B) urgEawg W ARER T WHEYT B
(€) aprmaw :

(D) wfimor &

129. @fdama a1 AT w9 A T B AT

0T ® PHET AT & —

(A) 3gImae

(B) YR

(C) ®BTEl § megar

(D) T YO FE N GEUE

130. af% I@F &1 waelww 7 @, @ ' g

THR FT TT?
(A) OyEq
(B) Rmfae
(C) s

(D) yoramfe

131. ﬁﬁauﬂiﬁﬂagﬁgw.j

THS WI-wy BTEY § —
(A) T Td RuR 1R = B &)
B) g # waft F T w2y &)

(©) Rwassg a9 @1 snarg a2
(D) uFF SO~ gy &

[EETYTEC-20][Series-B]
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132. Leadership is a special process, for 132,
which two best words are -
(A) Dominating - Subordination
(B) Dominating - Administration
(C) Dominating - Slavery
(D) Dominating - Follow

133. -Evaluation of students becomes essential  133.
for a teacher, because -

(A) The school pays the teacher for
this

(B) This is mentioned in rules and
regulations of the government

(C) Learning abilities of students
can be known

(D) This maintains Coordination
between learning abilities and
remedial situations

134. Before entering the class to teach, 1 134,

will -
(A) Make my mood cheerful.
(B) Gaze at my face in the mirror.
(C) Carry the teaching aids for
today’s lesson.
(D) Organize my lesson plan.
135. It is very important
profession -
(A) Constant learning

(B) Higher recommendations
(C) Teaching aptitude
(D) Higher percentage of marks

for teaching 135.

dg v fadm wfeen @ am R, Rwma fag

QA IFE NE T Thd & -

(A) W@ — anfFa

(B) W — WTEA

(©) Wy — T

(D) W@ — A

e @ for ol @1 sgewes @ ween

Fufeg amads @ ol @ JufE -

() Td fow foem @ @ @
A T B | :

(B) 7z WoR @ fam R fafem 3
aifefard gar 21

(C) zua fafifar & afrm swar &

aveﬁimﬂﬁﬁﬂﬁﬁﬁg.

e A o & wam TR A A -

(A) I & wEHATEa TS|

B) =9 F Iom dww e

(C) ¥ & ure @ e wews |t
AT SH AR |

(D) J9A1 9ISy G @afrd a6l |

R g & faQ s wewEgel € —

(A) ¥

(B) a1 fawfe

(C) fivror afyerran

(D) a6 & 9= wfawd

136. Being a teacher, will you suggest your 136. U&% @ &M & I, 991 W 394 9 @F

son to become a teacher ?
(A) No, because there is nothing in
this profession.
(B) Yes, if he willingly gives his
consent for it.
(C) Cannot say
D) Yes

e a9 & Fe?

(A) 78 =i g9 @gEn § §o oA
@ 2|

(B) %1, of 98 wWwT | 3us g wesd
BT &1

(C) e =& u=d |

m) &

137. According to you, priority of the need of 137, 9 @ #, I fiwn @aen § gur &

improvement in the present education

system is -

(A) Commercialization of
education

(B) Change in evaluation system

(C) More use of computers in
education

(D) Change in the curriculum

. (B)

HEATGEHAT BT WTIHEAT & —

A) Bren &1 acadeer
TRTFH IR | /1R

(©) frmm & orger & afes wam
(D) YEEFHH # aSad
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138. The foundation of leadership is - 138.
(A) Appreciaton
(B) Desire 1o serve
(C) Welfare of the group

(D) Nothing can be said
139. Social maturity means - 139
(A) Ripening of the child like a
frune.
(B) Development of wisdom in the
child
(C) Development of
efficiencies in the child.
(D) Presentaton of a balanced
social behaviour by the child,
like amongst adults.
140. Basc agency of social development 140.
among boys and girls is -
(A) School
(B) Parents and family
(C) Community
(D) Means of communication

social

141. If a student tells you about any family 141,

problems. what will you do?

(A) Listen 10 his/her problem and
suggest possible solutions.

(B) Listen to his/her problem and
give moral support.

(C) Ask him 10 discuss only study
related problems.

(D) Ask him not 10 discuss family
problems.

142. According to you. it is required in order
1o learn -

(A) Motivation by the teacher

(B) Common Sense

(C) Curiosity

(D) Reading Habit
143. According to you, education develops -

142.

»aﬁﬁwﬂs&mgn3§W|
(A) W

B) [Aq T FTO

(C) e @ fed

(D) TB T FE T

. wrfe aRgaaa &1 3 & -

(A) e B G B A gH |
®) a3 Ry o e 8l

(©) aws A wmiie  guest #
faema &l

D) awd & We B TR wferd
W @WAER &1 JE¥A FYl |

Ter-afent & weee e @

ST SFYERO FE S € -

(A) Reaea

(B) wra-fran @ aRar

(C) wREE

(D) WY & WA

ofy ¢ Rard smee s aRaRe T

@ ar ¥ qarar &, A M9 T FA?

(A) wue e g R SN Wi
ST g |

(B) wad W FE AR IJW A
wad |

(C) 99 dad yod A wala wwwn &
T4l w3 @ fag @)

(D) =Q uRafles waer @ =at T8
A B fag w2 -

P AATTAR, WE ¥ ravE ¢ —

(A) AE BN AT
(B) WM AW

(C) forsman

(D) 92 & amea

143, audt ww A, fen | fawfya 2 & —

(A) _En._._n.ﬂﬁ._wa (A) dfewa
(B) >_.._H_=,a (B) e .
M—Ov_ ”u.::qw.:_ (C) uRuaaar
) Toneorfhese (D) & & 2 78
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144. To develop the qualities of a good 144,

feader, the most imporant role is of -
(A) Political platform
(B) School
(C) Family
(D) Movie theatre

145. Teaching is an interacting process - 145.

(A) Between teacher and parents
(B) Between student and teacher
(C) Among students
(D) Among teacher, students and
content

146. According 10 you, the
inter-personal relation is -
(A) Equality of thoughts
(B) Regionalism
(C) Education
(D) Money

base

147. The base of a child is formed by primary 147.

level teacher. Thus his job is -
(A) Crucial
(B) Easy
(C) Difficult
(D) Important

148. In order to develop logical ability and 148.

creative thinking among students, the
teacher should do -

(A) Group discussion

(B) Seminar

(C) Debate

(D) Give lecture to the students

149. According to you, what is required fora 149.

good teacher?
(A) Popularity among the colleagues
(B) Commitment towards  the
teaching profession
(C) To beaneffective explorer
(D) Faith towards one’s
institution
150. Which of the following
qualities of a teacher. do affect teaching?
(A) Sensitivity
(B) Social skills
(C) Physical Strength
(D) Management abilities

own

personal 150,

(D) Twa — &
nﬂﬂ%&m%ﬁn%%ﬂd
it B 21 I IES a1 g

(A) Foias

(B) =Xd

(C) &fea

(D) HEEl
@Qﬂ&m%gﬁﬁﬂﬁﬂm
Rrem @1 Rem =@ &g s 31T
FAT TIEG?

(A) we wRad

(B) JEER

(C) ae-faa=

(D) BRI 1 g4 &

Ao g 3, e am P @ fom s
HAES &7

(A) T wE-oE § Ay

(B) R g @ ufy wigegm™

(C) TS Wil =wd A1

O I wRn S W A

frer A ¥ Res @ o9 & B o AR
Y waifde TR &

(A)  Fag=Ee

(B) wrRA® EHITT

(€ wifis afdd

(D) Wa9 &Fa

Hmmﬂjmn.mouﬁn:mm.w_
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151,

152

153.

154.

155,

156.

157.

158.

160.

Part-D / ®sm1-% .
LANGUAGE PROFICIENCY-ENGLISH / 57y 30T : st .
Attempt all questions, choose the appropriate option from the ones given after each question

Fill in the blank using correct word —
He ........._.. swim when he was young.
(A) mght (B) would
(C) could (D) None of these
What she said agrees ... ... whatl have already heard. (Preposition)
(A) from (B) with (C) of D) a
Choose the correct synonym -
Abandon
(A) forsake (B) reccive
(C) gf (D) grieve

Choose one word for the following phrase —
“Someone appointed by two parties to settle a dispute”,
{A) Negotiator (B) Arbiter
(C) Mediator (D) Middleman
Change the following into Indirect Speech —
She said, My father will help me."

(A) She said that my father will help (B) She said that her father would help her.

me
(C) She said that her father will help (D) She said that my father would help her.
her.
Choose the correct article —
Edwardsaidheis............. European.
(A) an (B) the )
(C) a (D) None of the above
Choose the correctly spelt word —
(A) Percerve (B) Parceive
(C) Percieve (D) Perceave

Which part of the sentence has error in it?
The rise and fall/of the tide/are due/to lunar influence,
(A) The rise and fall (B) of the tide

(C) are due (D) to lunar influence

- Choose the correct antonym for the word *Maljce” -

(A) Honour (B) Ecstasy

(C) Goodwill (D) Happiness
An average cow ..........,..... one thousand four hundred ponds.

(A) weighs (B) weigh

(C) weighed

(D) will weigh
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Identify the kind of sentence —
What a fool you are!

(A) Assertive Sentence (B) Interrogative Sentence
(C) Exclamatory Sentence (D) Imperative Sentence
Change to direct speech —

He asked who lived next door.

(A) He asked, “Who lives next door?” (B) He said, “Who lived next door?”

(C) He asks, “Wha lives next door.” (D) He said, “Who lived nex1 door.
Choose the word that is spelt correctly —
(A) comittee (B) balloon

(C) succesive (D) fullfill

Directions: (Q.164 to Q.168): Read the passage and answer the questions Bn- follow — .
A little man beside me was turning over the pages of a Epmnﬂun quickly H&.uﬂ;aﬁ_w.
Opposite me there was a young mother who was trying to restrain her son from making a :orq..n.
The boy had obviously grown weary of waiting. He had placed an ash tray oo the floor and was
making Acroplane noises as he waved a pencil in his hands. ./.mE. him. an old man was fast
asleep, snoring quickly to himself and the boy's mother was afrmd that sooner or latzr her son
would wake the gentleman uvp.

What was the old man doing?

(A) Sleeping (B) Looking at the child

(C) Eating (D) Reading magazine
What is meant by ‘restrain’ in the passage?

(A) control (B) encourage (C) 1ire (D) rebuke
The person who was least disturbed was the ..............

(A) observer (B) son

(C) old man (D) litde man

The noise wasmade by ...l )

(A) the old man (B) the Acroplane
(C) the litle man (D) the boy
The factor common to all the people was that they wereall ... ...

(A) watching a film

(B) waiung for something
(C) looking at the |lle

boy's (D) reading magazine

playfulness
Men fear............ vl death.
(A) a (B) an (C) the (D) noarticle
Tbought this watch ................ two thousand rupees.
(A) in (B) with (C) for (D) a
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